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HCP – High Card Points; TPL – To Play; SO – Sign Off; GI – Game Invitation; GF – Game Force; FSF – Fourth Suit Force; E – Enquiry; NF – Non Forcing

1C (Min 2 Cards)
     Bid			        Response / Explanation / Subsequent Action
  1C	   XYZ Convention
(Min2)     - 1D/H/S: Can be on 3 Cards with suitable shape
                   - Now on 2N: Transfers i.e. 3C/ 3D/ 3H                   3D/ 3H/ 3S
  - 2H/ 2S/ 3C/ 4C: Pre empt
	 - 2D: Limit raise in C
	 - 3D/ 3H/ 3S: Splinter
	 - 4N: Q, opener to reply as RKC in C if intt. In slam, now - 5N: SO
   
1D (Min 4 Cards)
  1D	- Generally as above 
	- 3C Limit raise in D

 1H         - 1N: Forcing
               - 3C/ 3D: Bergen raises G.I. / mixed rise with min. 4 card support
	- 2N: Jacoby, opener to show singleton if any at 4 level & at 3 level 2nd suit ; If no singleton 
                       Then – 3H: Better hand, - 3N: Balanced better hand, - 4H: Weakish 
	- ‘D’ (Opp.) – Now transfers i.e. 1N/ 2C          2C/2D, but 2D         2H: 8-10, 3 Cards
		      - Re ‘D’: 10+, Either 3 card support or penalty with shortage 
		     - 2N: 10+, 4 card support    (Jordan) – 4C /4D: 2nd Suit 
1S
 1S	- Generally same as above
               
 1N	- 2C – 2N: 5 Cards, M – 15 HCP, now 3C (enq.)
               - 3H/ 3S: 5 Cards M – 16/17 HCP   
	- 2S                   3C: to Bid 3C in case of super fit, otherwise 2N					- 2N                  3D: Weakish    – either 5+5 minors 
	- 3C: Min 5+5 in minors, GF or slammish 
- 3D: Min 5+5 in minors, GF only 
- 3H/3S: Singleton & 5+4 in minors, GF 
- Interfr. by opp. – Lebensohl Sequences, our 3C/ 3D: 5/6 cards, 7-8 HCP
		- ‘D’: Take out 
- Interfr. 2C (Suit) – our ‘D’: Stayman & 2D/ 2H                  2H/ 2S
- ‘D’ by opp. – now our Re ‘D’                  2C for passing or correcting to 2D
                 	    - our 2C: Stayman, 2D/2H                  2H/ 2S 


2C	- 2D: 4+
(22+)	- 2H: Bust, - 2N: H Suit 

2D	- 2N (E) – 3C/3D: Good hand in H/S, 
(Weak  - 3H/ 3S: Weakish 
In any M)
Or 20-21		
2H/2S (11 – 13) 
	6 Cards - 2N (E) – Repetition, 11 only
	- Any suit: Values with 12-13  
	
2N (20 – 21)
 - 3C (Puppet) – Now on 3D – 4C/4D: Equal M, slammish/ Non Slammish
	 - 3S: Min 5 + 4 in minors, slammish
	- 3N: Min 5 + 4 in minors, non slammish
	- 4C/ 4D: RKC in bid suit, Min 6 cards Slammish
	- 4H/4S: Singleton, Min 5 + 5 in minors, slammish – Now 4n: DKC

	1H (3rd/4th) – 2C: Drury – Now on 2D – 2H: 10HCP, 3 Card, - 2N: 11-12, 3 Cards
					        - 3H: 11-12, 4 Card, - 2S: Singleton with 4 Cards 

	1S (3rd/4th) – 2C: Drury – Now on 2D – As above, but - 3C/3D: Singleton with 4 Cards
							        - 3C/3D/3H: Singleton with 4 Cards
General
	(1) Reverse signals and counts, (2) Michael, (3) RKC – 1430 – (4) Journalistic Leads NT only
	(5) Namayts, (6) Support ‘D’/ Re’D’, (7) MUD Leads, (8) Jump bids: Weak, (9) Free Bids: NF   
              (10) Help Suit G Try with A,K or Q only, (11) on opp. 2H/2S – our 3H/3S: Asking for stopper,
	(12) Balancing 1N (11-15), Now 2C (E) – 2D: 11-12, - 2H/2S/2N: 13-15
	(13) On opp. 1N – Immediate position- ‘D’: m+M, - 2C: Both M, - 2D: Single M, - 2H/S: H/S+m
	(14) On opp. 3H/3S – our 4C/4D – Now 4H/4S: RKC in C/D, but 4N: TPL
	(15) On opp. 1N – Balancing ‘D’: Both M, Other calls – Natural 
